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QUESTION 1

Which two statements are true about User Preference templates? (Choose two.) 

A. They can be routed for approvals in a Business Process. 

B. Only one User Preference template can be active. 

C. You can have multiple User Preference templates. 

D. They are automatically applied when importing users. 

Correct Answer: CD 

 

QUESTION 2

Which twoactions are facilitated by mandatory Data Elements in the Shell Detail Form? (Choose two.) 

A. linking elements through the Shell hierarchy 

B. auto-populating constant values 

C. placing Shell Instances in the hierarchy in Unifier 

D. configuring andcreating Shell Instances in Unifier 

E. determining the address code of the Shell 

Correct Answer: BC 

 

QUESTION 3

You are creating a form that includes a mandatory status update Data Element. You want this to be more of a short,
conversational field. 

Identify the Data Element input type for this use. 

A. Drop Down 

B. Multi Select 

C. Text Box 

D. Check Box 

Correct Answer: D 

 

QUESTION 4
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When a Program is created, a Program Administrators Group is automatically created. Who is the default member of
that Group? 

A. the user who has been entered as an administrator 

B. the creator of the Program 

C. the System administrator 

D. the Company administrator 

Correct Answer: D 

 

QUESTION 5

You have completed and tested designs in the staging environment. Your project team feels that the design is ready to
be brought into the production environment. 

Identify the first step in this process. 

A. Create the Design Bundle in staging Environment. 

B. Export the design to a local directory. 

C. Delete staging data in production environment. 

D. Delete user data in staging environment. 

Correct Answer: B 

 

QUESTION 6

Non-assigneesusers who can edit a specific step in a Business Process when it is in draft mode are called _______. 

A. administrators 

B. assignees 

C. record editors 

D. step editors 

Correct Answer: D 

 

QUESTION 7

Generic Cost Code Shells _______. 

A. define the Shell hierarchy 

B. define the Cost Breakdown Structure 
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C. support Cost Manager functionality 

D. support configurable modules 

Correct Answer: D 

 

QUESTION 8

One of your client\\'s requirements is to maintain consistency and control as part of the Unifier deployment. 

Identify the best practice related to Shell templates that would address this requirement. 

A. Add member companies. 

B. Add unique permissions. 

C. Add standard permissions. 

D. Add users. 

Correct Answer: D 

 

QUESTION 9

You are manually adding users to Unifier. You notice that your newly added users are inactive. What is the reason
forthis? 

A. You did not enter a valid email address. 

B. You did not add the users to a Shell. 

C. You have exceeded your license limit. 

D. You have set this as a default when adding new users. 

Correct Answer: A 

 

QUESTION 10

Identify one function granted to On Hold users. 

A. They can be added to workflows. 

B. They can log into Unifier. 

C. They can initiate Business Processes. 

D. They can create Business Processes. 

Correct Answer: A 
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QUESTION 11

What is a resolving Condition? 

A. a problem-solution statement within uDesigner 

B. a path that is taken if a condition does not trigger 

C. a picker that auto-populates data within a workflow 

D. a solution that is created within linked fields in Forms 

Correct Answer: B 

 

QUESTION 12

Identify two actions that occur if a user is set to an Inactive status (Choose two.) 

A. The user can be selected in User Pickers. 

B. The user\\'s permissions can be changed. 

C. The user can be assigned to new Groups. 

D. The user cannot log into Unifier. 

E. The user can be given new tasks. 

Correct Answer: CD 

 

QUESTION 13

View the Exhibit. 
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Identify two Business Process typeswhere the Find tab interface in Log Properties is split two halves (Choose two.) 

A. Document 

B. Simple 

C. Line Item 

D. Text 

E. Shell 

Correct Answer: AC 

 

QUESTION 14

Identify two permission levels in Unifier (Choose two.) 

A. Shell 

B. Administration 

C. User 

D. Company 

E. Partner 

Correct Answer: AD 
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QUESTION 15

A field has been configured on a contract to show the total amount of approved change orders for a contract. 

In order for this value to display, what must be setup in the Unifier once the configurations have been deployed? 

A. Roll up the data from the Change Order line items. 

B. Auto-populate the value from the Cost Sheet. 

C. Set up a query-based Data Element definition. 

D. Set up a linked Data Element from thecontracts SOV. 

Correct Answer: A 
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